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Trigonometry

@ 7r+ 27r+ 37r+ 41 _
COS ¢ + €05 =+ C0s =+ COs - =

1 26i 7T A

in— in—

Sty 70

@ cos165.cos 105 ?

-1 -1

2 4

N

3 7n

cos— =?
12

V2 -6 V2 ++/6 V241
4 2

@ In the given figure,
AD =2
DB =3
BC =4

tanx =?

15 12 10
31 31 31

®

sinx — cosx = E , sin2x =?
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None of them
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25 108 164 144 145
169 169 169 169 169
@ Which inequality is correct for all values of x ?
A)sinx +cosx > 1 C)sinx+cosx <1 E) none of them
B) sinx + cosx > /2 D) sinx + cosx < V2
@ How many solutions does this equation have in the interval (0, )
2cos?x = 4 — 5sinx
0 1 2 3 4
What’s the general solution for the equation vsinx = +v/cos x
T T T
2K+ — 2KT — = 2Km Km+— krn &
4 2 2 2 4
©) tan61 — tan 16 — tan 61.tan 16 =?
0 1 -1 7 -1
cos 36 .cos72 =?
1 1 1 1 1
2 4 8 6
Solution of Trigonometry
@ T iT
cosE = - cos? since cosa = —cos(m — )
Choice E is correct.
@ 1
cosa .cosff = > [cos(a + B) + cos(a — B)]
5|Page
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[cos 270 + cos 60]

N| =

1 (0 + 1) 1
S 2 2) 4
Solution No. 1: sini—: is in the 2" quarter, the result is negative.

Choice A is correct.

Solution No.2:cos(£+£) :£><1—£><‘/—§:\/5_‘/g
4 3 2 T2 2 2 4
Z ACB t tan g = :
=q an a — tan 172 5
4DCB=3} anx = tan(a — ) 1+tana.tanp 1+§><§ 1_|_1_5
474 16

Gsi % 25

inx — =—

sinx — cosx 169

1—2si \ 25 = _ 144

smxcosx—169 = sin x—169
Choice D is correct.
T

sinx + cos x =\/§sin(x+z) <2

2(1 — sin®x) = 4 — 5sinx

2sin®x —5sinx+2 =0

543 1

A=25-16=9 = sinx=T=2 or —

) 1 T 5w ) ) )

sinx = 5 = x= I 2 solutions , choice C is correct.

T

sinx=cosx=7 = x=2K7T+Z

x must be in the 1 quarter, so that both sine and cosine be positive.

Choice A is correct.
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© 61— 16 = 45°

tan61 —tan 16

tan(61—-16) =1 = 1+tan61.tan16:1 = tan6l —tan16 =1+ tan61.tan 16

Choice B is correct.

2sin36.cos36.cos72 _ sin72.cos72 _ sin 144 _ 1
2sin 36 T 2sin36  4sin36 4

Choice Cis correct.

Coordinate Geometry

@ Three points A(3,2), B(m + 1,m) €(m? m + 1) are collinear.

What's the y- intercept of the line?

A) -4 B) -1 Q)5 D)1 E) O
@ What's the distance of intersection of linesy = 3x + 5, 2x + y = —10 to the origin?
A) 25 B) 5 Q)5 D) 2v/5 E) 3v/5
3 Point A(a, 2a) is the center of a circle passing through (2, 1), (=1, 4).

What’s the radius of this circle

A)3 B) 4 C) 2v/2 D) 3v2 E)5
@ Two sides of a square lieon 2x — 2y =3 , y = x + 1. What’s the area of the square?
9 9 25 25 4
Az B); Q)= D)5 E)5
@ A(7,6) is a vertex of a parallelogram. If two sides of this parallelogram lie on the lines

2y —3x =11, 3y + 4x = 8, what’s the coordinate of midpoint of its diagonals
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